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Chapter 1 How to Make Yourself Understood %% ->TE591213

1. Who is to blame?

on the rice!
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2. What is the problem?



3. “Product Liability” and “Customer Perspective” in Scientific Communication

Question 1: What is missing in these arguments?

Question 2: How would these arguments look to the readers?

[ Sample Argument 1 ]

Some argue that extraterrestrial beings, or aliens, exist in outer space. |
doubt that. If aliens really exist, they should have visited our earth with
their “unearthly” technology. At least they should have made contact
with us. However, there has never been such a visit or contact so far.

Therefore we must say there are no such things as extraterrestrial beings.

FERINEIR, DFNFEANFFIZIIBFEETLEERTLALENS, RIEZIINLEHL W, ELARY(C
FEHEANGESTLONL, ZOTHERRBIN DT 7/0) —2iF -, B2 DMIREZFN CONLEIT -, P
(vt BBEPRSCEEILTE, L, 5DXZ5, ZOLHH ECEBIL W, LT, #Ikoh E iR
LEVIEDIZHF ALV T HILEETDE,

[ Sample Argument 2 |
The consumption tax rate should be raised. The government needs

money to put its good policies into practice, and the increased revenue
from the consumption tax can be used to boost their implementation.
Besides, those countries where the consumption tax rates are high are
active in their economy. Higher rates lead to a better economy. There

is nothing negative in raising the consumption tax rate.

HEBEL LTL5ThEL, BUHIL, ROBREETTLDIZHE20LET, HEBRNLOBIRN BN
X, 2%, BROETEMR T L-0124825, £72, HERENGVEIL, BRELEZRTHL, o\ FLE
N RANMEANEOUWHNLDZ, THERFEL EITHIY(C, TELEIAFIEL,



Chapter2 Deduction &

ER(ZAZE): —RETHRNS, BRRIZZLLTI RIS UER OB REESHT I,

—ODFMPLIEDFARANELUAT GENLY,
([PAsEEZEH D)
1. The Missing Link

[ Sample Argument 1 ]
Miyajima island is a popular tourist spot. When you come to Japan, you

should visit it.

B BIIADOBE AL TT, BARIZRLEL, FOFNUESW,

Reason #Ri : Claim *3&

Premise #14%

[ Sample Argument 2 ]

I'm visiting Hiroshima next month. But | will not go to Miyajima island

because it is a popular tourist spot.
RAEBIITEET, T8, TBIIALQDBERMADOTITEELA,

Reason 7R : Claim *E3&

Premise AT3%




2. Syllogism =Zm7

English changes. .
gz & & RATARY N ETR A0 2t XL 2 A
EZEIIERILT S,
English is a language.
NET AR & sU4s LU HE
HIEIITETHS,
} All languages change. N
KiTi2 sHas & 24 2E %, b0 L EE OIS,
T EILERILT S,
KRBT/ DNATIRN ELW RO L LI, LR AR ELW ARSI L2505
R TREAE R .
fEam FZE > BT 5
JNETAR B Z:E
KATHR B BT 5
[ Sample Argument 3 |

All students should learn English because it is a global language.
FEEIERELOT, FEILERBLFIIOITLNES,

R | >

[ Sample Argument 4 |
You should take this medicine because it helps you to stay healthy.

COFEL, BEZHMZFTLDOITIZIL NG, BRAFEF 3L,

R | >




[ Sample Argument 5 |
Birds fly. And penguins are birds. So, penguins fly.
Bl 2L, XU XL BTHL, D, U FUIIRS,

N e | >
D2

[ Sample Argument 6 |

Japanese culture is unique. So people of the world are interested in it.
B ARSI ChD, D, #ROA L H Bk,

== ,>
A G |
PINATR
PNIE

Question: Are Sample Arguments 3-6 persuasive? Why? / Why not?

How can they be improved?







Chapter 3 Induction J##K

JRAN (=) B2 DBRELFEENL B LR, 22— ROVLRIZCARIZES RS Y,
([PASEEZESF#])

Generalization and Overgeneralization —#R{L.Y &5 —AZ 1t

[ Sample Argument 1 ]
A swallow has wings. A crow has wings. A pigeon has wings. A duck

has wings. An ostrich has wings. So, it seems that all birds have wings.

VAR DB AT AR DB NNZER DD, TEIUERN D5, ' FaV 8RN b D5,
FTNTDOBILTFARHLLL

[ Sample Argument 2 |
A tennis court has a net. A volleyball court has a net. A table-tennis
table hasanet. Abadminton courthasanet. So, it seems that all sports

use nets.

7= 23—=NIdFx M H 5, S—R—LT—=NIEFXyMIB D, BIREIZEXY MBS, /RIVR T —NIE
FINIBH DL, 12, TNTDAR— I Hy NAE IS LN,

=N\
5 B
7\ ﬁ AT}
Case 1 Case 2 Case 3 Case 4

XBEROMBRNF P2 b NCLT, YOFREHBEL CEULELF By —KmelL (ol
ERZECEE LI
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[ Sample Argument 3

Takeshi, a student at Sora High School, speaks English well. Kyoko,
another student at Sora High School, speaks English well, too. Megumi,
still another student at Sora High school, speaks English well. The
students at Sora High School seem to be good at English.

EBRDEFETHLY T UNIRZBDIE N RIKEBROEFLTHLF a7 AL REN T INELES
ROEFECTHHLAT IEHEBIEN ESROEFEILIEZNFESL,

[ Sample Argument 4 |
The students at Kita High School study for three hours every day. Those

at Higashi High School also study for three hours every day.  Those at
Nishi High School also study for three hours every day. Therefore, we,
the students at Minami High School, should study for three hours every
day.

RO EGE L E B3R MR T2, RROEFL & BIRMUWRT 2, EHRO LT & B3R
BY 5, LIz, ’r mdmROERED, & BIH MR T N5/,

Question: Are Sample Arguments 3 and 4 persuasive? Why? / Why not?

How can they be improved?
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Chapter4 Cause and Effect ® R 1%

1. Untangling the Complex Relationship #2370 B14% A =3

[ Sample Argument 1 ]
Hoshi-Machi is a small town in western Japan. The town has been

struggling with the declining population and weakening economy.

The new mayor ordered a team of town officials to suggest a plan to
revitalize the town. The team worked very hard and found that the
population and economy of an area correlated with the number of
apartments. The more apartments there were in the area, the larger
population and the more vibrant economy it had. Based on this finding,
they wrote a report and brought it to the mayor.

The mayor read the report and said, “Thank you very much for your
hard work. This report is great. Now, | will start a new policy. We will
build more apartment houses in the town. This is a rural area and most
people live in independent houses. If we build more apartment houses
and encourage people to live there, the population will increase and the

economy will be more active.”

EE[IE B RIZHLNIWETHD, ZOEL, ATDBYBLUVRFDELRALY B\, HTLWET &K
12, BOIRB DOF — A2, B2 BN E LI L7 7V ERETLLIHE Rz, F— Az~ A3l C
B L, HLHIBDATYIRFIL, T/ 3= D FREABEANH L2 R AL, ZDHIRDT 7 I—h D F
NEFNULZNIY, ATl ZRABADERE 7, CORRIZESWTF —AIZREELIE), kDL
DI > UT =72, TRIZMEZ LT A, 278 =72 [ AUL-TUNTHNL ), ZOMEZITTIILL
TV RELEDLIYIZL T, B2 5 I BT X= ML), Z2ABES D05, [ILAL DAIR—F 3%
UUEALTND, TXx— Mt T, ARIZT/S=NUEL NS, ATld3gz, BFILERIC
W5ES9, |

Question: Is the mayor’s new policy reasonable? Why? / Why not?
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2. Establishing a Cause-and-Effect Relationship & &R {2 %58 E 4%

(A) TRISHELY ROIRFEARH LS
12 R R B4 2
(B) [RDBRFEARANIEZ LY FAS LD ]

Three Criteria for Establishing a Cause-and-Effect Relationship

AR B IAZARIET L7-b D3
Temporal Precedence (A) MAFE)HELZRIZRDIRTE AR EZLS, O
RIADKIZ A RAHL B) R LENLY ALY, O
Covariation of the Cause and Effect (A) MBI NDERDIRFTARNEL S, O
RRANDBETNILTRREBESS (B) &DBREARNIEZLL Ot RED, O
No Plausible Alternative Explanations | (A) B&a1x> 2 )9 BIZADBRGE AL IEL L0\, - O
RIUE B2 ED D FRAHL B) EARBTERAILED, MAELY, WANED, - X
[RNBRLY OB SEARBNEZS] -+ ( BREE - ERBEAETILW )
(D IRSE AR EZ LY AN D - ( BXRMEZE - RERXBEEZETELW )
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[ Sample Argument 2 ]

| want to study astronomy at Star University. It is one of the best
universities in this country and it is a leading institute in the field of
astronomy.  But my test scores show | have little chance to pass the
entrance exam.

The other day, | had an opportunity to hear several students at Star
University speak about how they spent their high school days and studied
to enter the university. They all said that they had put their energy not
only into studying but also into sports and cultural activities. They also
said their strong interest in astronomy and firm determination to enter
Star University had helped them to survive the hard days. They all
assured that where there is a will, there is a way.

Their advice was quite encouraging. | am already determined to
study at Star University and my love of astronomy is second to none. So,
from now, | will devote more time to my soccer practice just as those
students did. Then, | will be able to pass the exam and study at Star
University.

T2, B RFCRXFELEUAVY Bo (0D, BR%E, BATRLENEREOIECT, RXED
HEFCISE BB, T8, DT AN REE LD, NRITZADRAALIJILAY N,

BB, ERFOFERLY, @RERELDINZBILZNKR, RFIZNLEHIZE DI miaL =0
IZoWTEET OEBI M 21N h 72, ADFEEEHE F T EDIR, BBET TR(AR— VX XL iEH
IZBATHERAELIZY otz £, RXFEANDROERE, B RFIINFLAWIB VR EL BT
BT, ELOB R EWHRI AT ET 5O, &, TEEHLLIBIHAELS X\ IZ S,
BEZE-TE -0,

BFOLOBEIZIE, ¥ BASTLNE, [FIL, 702, ERFTHEILFQLTNAL, RXFH

TLRILHICEEIT O, 205, TN o, IR SNZIHLI002, (T2 v 71— DB 2t - B %
EFADIVICTL, 0TS, RERIZZ D> TERFTFEINZYNTELES),
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3. Specifying Covariation 7 BI1A%4FFE T4

Five Methods of Experimental Inquiry

EERBT 7T DD Ik

BEDOBMLEFRIZHBTLIRANHNUL, 2NN ZDF RO REA

Method of Agreement ThoLrEZ 5,
— Bk eg) (V57— M HHF— L, T_CH AN —=2 7% D,
> BIN—=2 T M8 — M HIF ZEE U
HLFEZNRETLHEYBELLNVIGERILNYE, BRETLHE
Method of Difference IZDOLGETLRZRNHIL, %Mﬁ“%®$%@l§ RTHor %25,
@ e.g) 17— M F—LUIEREGF — L tb\20 5, B3G5 — Al
a FTNTEF AN —=0 7% 00T, JEHHF — AL N0y,
> BAIN—=2 T HMM 0 — M HIGI EEURK
BROFHIHN 12OZRAETED), HEOT N TOZRNE L
THHHEIT, hLFFDOELTIZB DD LEGE, ZORL TS
Joint Method of SOERN, ZDFRDRRALEZD,
Agreement and Difference | e.g) 2 F#CMRYE B - #RE NENIIFELCT, BN —=27%L
—RAEMRZE TWLF =LY, BILEMATROREZL (WL F — LR NS, B
HIN—=2 T2 CNSF — LA I — I35,
> BHAN—=0THU T —r M EFI UM,
HLEFOREICEOLLBERDERD -, 2095, BRBIENTT
[ZHIAL QO B2 R BN IR\W 35S, Rl BRNZOFZOREY
%25,
. eg) (V57— MHBF— LT T, BAN—=2 7 3T 7 3
;ge;;’d of Residues FOF BOBSELC N, 209, 1T 1L, FE kB F — b T~
- TLONEDT AV = MEBUIIEBRIR TH LY N -T=, £7=,
FIEOTBIL, TATHTNS, A — M EFYIIERRIRTHLI YN
SIN->TUN5,
> BN — =2 T HM I — M HIG A UM
HLBERNENTLY, T FROREDEFTNELLHE, ZDE
RNZDOFEZLDOREY %25,
Metg‘;iggnﬁmwaﬂaﬁon ) WAL — IR THBLC N F— LA 7P — =
- THECOHCNIMIIA VY — A BGNTST, BRT LY, 1078

—/MIZHFHTELL -7
> BHIN—=TH T — M HFI AU

15




Chapter 5 Definition & 3%

MECE: Mutually Exclusive and Collectively Exhaustive Iv>—:ELHERNEL\N

[ Sample Argument |

Books can be classified into two categories: books for studying and
books for having fun. A typical example of the former is a textbook. It
is full of information for you to learn. Books about special technical
topics such as science or history are also in this category. The latter
includes novels and comic books. There is not much to learn in them,
but they entertain you.

Different categorizations can also be made. For example, there are
books that communicate mainly through language and books that
communicate mainly through pictures. The former is for adults and the

latter is for children.

RL2ODHT D) =25 8T LN TEL, FTODRY, BLEUEODERTH L, #1H DB G| 13K
BMETHL, FONFHRNZE L5, HFECBRULEDEMLTARICETLARE, 2o/ 73—
B %, REIZSEINLDIL, N BETHL, FHONTABLHE) 0D, BEESZ U5,

MDD HETED, 12221, NEZEIZT R CIEALRY, TEZLEADN D, BIEIIRA®IT, RF(L
Frimlitths,

Question: Are these classifications reasonable?
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MECE: Mutually Exclusive and Collectively Exhaustive

EL)0HS RIDH5

ELDERNEL W
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Chapter 6 Putting Them into a Story Ah—!)—

=P oV

IKPOLET /%
Interest (F]) Pk, FEXDRRNIAZYBEZ LN TSELED, EIZZ DR
= BHuRA UM 2N ERESY NPT REEAN (S EL 2,
®)
5 | Knowledge 5 N .
) ) FREXCBMDFRYY, ZORRAHBELANI XTI HFTLL
O | BEFOE- WL 0, . ‘ .
O Do ElL, ZOBNFZXZEMELTONLLLWD T,
& | 27742 T2
=
| Purpose (F) ABFEIL, FEXOREZ, L) EFEIZ>XrhsZr2BerLE
B&yz oy L7,
. (B) #Emo3or, FREXL, AVRRTELLZYNZ VWO TT
Outline
N, BNEIDERY AL EHISHGEIZHELLIY NN E
Az Re5
L7,
Link () BEIRCIZFZXNELLIXIHNEASY, B+CELUIB+ (D
r FE)XVI RN INLY, FRXNELET, 272L, 20X
S
: 7= Z AR E OB SV LT,
a
8 (B) ZRA,B,C,D, Ez3EXE0 R eCIEF THRLEHLY(, F
FXINELDNERZIT WL, 20O R, BREZMLEHES
) B FERZXDOREIZBEL RITT o) EL, 12X 2148
Embodiment, Example, \
. + (D+BE)DHE, DHEDE S TEFRLINBREIMN, ZDIEBM
Evidence e
L2 T, FRYNWEL, Z¥YDRLEHHEIZLY), #FR892
BARIb, F4), SR
FRXCEILZeNELEL 2, AR TELZHELNE, F2XN
EULETCOBMNENDIL, ZOXA) Z X LDZWNLLYr 2L
nEv,
5 (H) SEORALIAT L, FIXELXELO1Z, LFLEAET
§ Transfer [ZFEL LRI, LNRIED B S LB A AT L N FT Rl 27
S | BB £T, -, MICENETL2ERSHLTRERANHLNT, X502
S FED R BNET
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Question: What will YOUR story be?

Interest
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Embodiment,
Example,
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Appendix 1  Expressions for Presentation

Introduction

We are interested in. ..

The purpose of this presentation is. ..
Today, the topic of our presentation is. ...
We will divide the discussion into three parts.  First,... Second,... Finally,...
Let us begin our talk by giving you an explanation of...

To start with, we will provide background information on. ..
We would like to comment on the problem of...

We would like to briefly mention (that)...

There are two points we would like to make.

We’ll show you the data later.

How can we explain...?

Is there a link between...?

Is there a solution to...?

Next, we will demonstrate. ..

After that, we will take a look at. ..

We’ll give you more information about this in the next section.
Generally speaking,. ..

Body

So far, we have reviewed. . ..

Let us now turn to...

Let’s move on to the next point.

This leads us to another question of...

To illustrate this point, let’s consider. ..

This apparatus consists of...

We’d like to define the term X. X refers to... / X can be defined as. ..
We’d like to show you the experimental set up we used.
These results show...

On the one hand, I would say.. ., but on the other hand,...
In spite of..., we should remember...

Despite the fact that. ..

Although. .. we still think... because. ..

What do these results tell us about. ..?

What can we conclude from these results?

What do we mean by X?

What is the experimental set up?

First of all,...

To begin with,...

At the outset,. ..

In addition,. ..

As well as. . ., there is also. ..

Moreover. ..

For example,...

It seems to us...

We have to say...

As far as we are concerned. . .

To put it simply...

20



Conclusion

In conclusion, we have made the following points. Number one... Number two...
In closing, we’d like to mention that.....

In conclusion, we would like to say...

We’d like to go over our major findings.

We’d like to summarize the main findings of this study.
The main findings of this study are as follows.

As you can see, there are three main points.

In this study, we found that. ..

Our future work will be to. ..

We plan to look at. ..

The next stage in this research is to. ..

Our future goal is to. ..

That’s we all have to say. Thank you for your attention.
That concludes our presentation. Thank you.

That covers everything we want to say. Thank you.

On the whole,...

Q & A (disagreeing)

I agree in principle, but. ..

You have a point there, but. ..

I can see your point of view, but...

I see what you mean, but. ..

That may be true, but...

I agree with you on the whole, but...
[ respect your opinion, but. ..

but...+

it could also be said that. ..

we should still think. .. because. ..

that is only one of the many contributing factors
that is much too simplified.

our data tell us the opposite

I’m afraid. ..

Q & A (unable to give an appropriate answer)

At present we don’t have enough data to answer that question, but generally speaking. ..

I’'m afraid we can’t give you a definite answer, but my speculation is that. ..

I’'m sorry, but that is outside the area of this study.

I’m sorry, but we did not look at that point.

I’'m aftaid that requires a careful discussion. We do not have enough time to discuss it now. Could we talk
later?

21



Appendix 2 Nouns for Science

(1) %5

Q) B

3) B3

@) T

(5) K

(6) N,

(7) MRS H 1
®) 7K

©) 5F

(10) %&

(11) 3% 5 (+2)

(12) REX-2R)

number
integer
even number
odd number /
uneven number
decimal / decimal fraction
decimal point
the first decimal point
fraction
numerator
denominator
trisection (trisect)

formula /
numerical expression

(13) #3% average
(14) &3t total / sum
(15) 7 PALEOXT) seven or more (less)
(16) @ ANT S round off
(17) ") LIF 58 15) round up (down)
(18) 2%(¥ %) square
(19) 3%(¥4%) cube
(20) 10" ten to the (power of) thirteen /
ten to the thirteenth power
(21) FEHK multiplicator / multiplier

(22) #exHa
(23) i
(24) ==

25) &>

absolute value
unit

weight

length

22

26) £l&

Q7) ke

(28) &>

(29) B&Y

(30) Eel

(31) R s
(32) E

(33) M

(34) EHT
(35) K
(36) = AT
(37) EZ#T
(38) BA=A
(39) —%M=A*
(40) DML

(41) FiTreTH
42) &7

(43) AR
(44) BT
(45) NAT
@46) AR

(47) A

(48) &

(49) E#z

(50) ke

proportion

ratio

speed / velocity

scale

proportion

imverse proportion

figure

circle

square

rectangle

triangle

equilateral triangle /
regular triangle

right triangle

isosceles triangle

rhombus

parallelogram

trapezoid

pentagon

hexagon

octagon

angle

apex

right angle

straight line

curved line / curve



(56) M

(57) MA

(58) MAE=

(59) FAT(THBIY)
(60) #RAHHR

(61) B AFR

(62) B 1K

(63) LT K

(64) = FiE

(65) WIAE

(66) MiE

(67) @&

(68) 147

(69) FH L FA—PL
(70) ILH 2 FA—PL
(71) B¥

(72) %%

(73) B %

(74) K&

(75) k&

diagonal line

base

height

radius

diameter

center

circumference

pi

parallel(ism)

line symmetry

point symmetry

cuboid /

rectangular parallelepiped

cube

triangular prism /
triangular pole

quadrangular prism /

square pole

cylinder

area

volume

square centimeter

cubic centimeter

atom

molecule

oxygen

hydrogen

carbon

23

(76) £%

(77 )~

(78) Fik

(79) %

(80) $R

@8l) HE

(82) WH

(83) ik

(84) 1LFERIS

(85) E# T L ¥ —
(86) {E T HILF—
(87) PP RILF—
(88) - HL¥—
(89) TAi#R

(90) ik

O1) B DR
(92) BER

(93) #EL7

(94) 7

(95) Ht7

(96) EHLZ

(97) A&

98) T

99) €T

(100) = 1%F

nitrogen
phosphorus
sulfur

chlorine

copper

mass

matter / substance
body

chemical reaction
kinetic energy
potential energy
elastic energy
thermal energy
radiation

isotope

inertial law / law of inertia
friction
centrifugal force
gravity

magnetic force
electromagnetic wave
periodic table
positron

electron

neutron



Appendix 3 Verbs for Science

(1) absorb

(2) accelerate
(3) accumulate
(4) adapt
(5)add

(6) adsorb

(7) alternate
(8) amount
(9) analyze
(10) apply
(11) assemble
(12) assess
(13) assimilate
(14) attract
(15) behave
(16) bend
(17) bind
(18) calculate
(19) cause
(20) capture
(21) charge
(22) classify
(23) code
(24) coexist
(25) coincide
(26) combine

(27) communicate

absorb carbohydrate % ZK1t47% RIS %

accelerate a particle to light speed ¥ % tiRETHnRT 2
Greenhouse gases accumulate in the atmosphere. J&% R/ AN KAFIZERT 2
adapt to the climate change XUER Bl @IS T 5

add the compound to the solution ZD1LE4%ZDIER ZH0Z %
control rods adsorb atomic particles #|##&LRFTORMTERET S
alternate walking and running 7+ —* > /Y7y =7 E R BIZIT)
The total loss amounted to about 35% 2R  E1447 35% (2L 7=
analyze the relationship ZDBH1R L H5ATS 2

apply a force perpendicular to... -+ [ZEBE L HEIMLL

assemble the apparatus D3z B# A4 (5

assess the intensity ZDFREZHET 5

assimilate carbon dioxide —E:1t iR £%RIRT 5

Unlike charges attract. £42EFLUE211H7,

Solids and liquids behave differently. EARYIZIED S LHENL:2),
bend metal using heat #% 2 (& &% el T2

Molecules bind together. % TY L0 4&EET %,

calculate the circumference FE% st H %

Heating ice will cause it to melt. 7K# #3425 %,

capture CO, —BRILR RZ BT 5(322.5)

chargeabattery /Yv7)—42RETS

classify whales as mammals 72 7% H5LEAIZH 3T 5

code a computer program I2Ea2—%- 7077 L7 E

Humans and animals coexist A ¥ #4703 3% 54 2,

Sneezing and blinking coincide. (LA ¥ £IL7-573E B 2222,
combine hydrogen with oxygen "KEAYERR*EE5SE%

The disease is communicated by fleas. %% UL/ UZL->TURFET 5,

24



(28) compare
(29) comply
(30) compose
(31) compress
(32) conceive
(33) concentrate
(34) condense
(35) condition
(36) conduct
(37) consist
(38) constitute
(39) construct
(40) consume
(41) contain
(42) control
(43) convert
(44) correlate
(45) correspond
(46) corrode
(47) decode
(48) define

(49) demonstrate
(50) derive

(51) describe
(52) detect

(53) deteriorate
(54) determine

(55) develop

compare your results  #& R% LI T2
comply with safety regulations ZZ2HEZIBFT 5
Water is composed of hydrogen and oxygen. 7KIZ/KEYBEREZ/N LTS5,
compress files 771V %EHET 5
Sleep deprivation can decrease the possibility to conceive.
B BR T~ R LHEARD FT REEE T 95,
The lenses concentrate sunlight. %L X3 B X% £ 2,
Water vapor condenses into tiny drops. 7K QW3 BEASL OIS RiEIC0 4,
condition rats to press the button 7 e RY U EFF T I FKHIT TS
conduct an experiment  EKER% 1T
The experiment consists of three stages. %D EERILS DD EFEHN L pr -\ 4,
Lime and sand constitute mortar. £/L %/ L3 ERYETTEUN5,
construct a hypothesis 1&R3%x L (%
consume alot of energy T AN X —%KBIZHETS
Cigarette smoke contains carbon monoxide. 7=IZZDK&E ZIZ—BRMULR ZHVEEN (D,
control other variables 1> & R% #H ¥ %
convert inches into centimeters 1> F %> FA—NUZHRETZ
The temperature correlated with the production rate. 72 ¥ % HiR E| ZABRI S 7=,
The results corresponded with our hypothesis. % & R34k 7 DIRIFHL — KL\ =,
Acid rain corrodes buildings. B :MIIEHEE RIE 2,
decode the message X DAyt —2%fESRT %
define categories clearly 777 ') — (i85 - ) 48) % PAFEI ZE £ T 5
demonstrate that the hypothesis is correct  ZDARFLAHN ELNZ %IRRT 4
derive from fossil fuels (LERRENZ B R T L(0OAFLS)
describe the procedure clearly %> IB% BAEE| Z2H PR %
detect contaminants 5 4 H 2 RFa %
Hearing deteriorates with age. #2 77|31 70#¥ v 12552,
determine the cause REZ X ZLH2

develop a cat phobia  F& & MREEIZ70 4
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(56) differ the results differ #& RV EZ70%

(57) dilute dilute the solution %% HIRT %

(58) discharge The human body discharges waste. ~ AfKILZ B HEH T4,

(59) discover discover the relationship B{& %% & R4 %

(60) disinfect disinfect water with ultraviolet light [UV rays] K%*% Mg CiET 5

(61) display display your findings %7 -/=2¥235% T

(62) dissolve dissolveinacid Bl Z7AlT4

(63) distort distort the image H&ZIPH D7

(64) distribute The samples distributed evenly. R4 (> 7))L 25 L=,
(65) diversify diversify your experiment locations EBR¥%PTIZR{LEE/-E5( S HILT2)
(66) document Its negative influence is well documented. % & DREIL+5 ZILEIN TS,
(67) drain drain water from the container &2 \LKEHHE T4

(68) drive The machine is driven by water power. % D#ARI LK 77T,

(69) elevate elevate the body temperature {£)2% LHF 5472

(70) ease ease muscle tension AFADEIRZCHLITS

(71) emit emit greenhouse gases BEHRAALZHHTL /  light-emitting diode = LED
(72) employ employ a new method in the experiment  EERTH L\ T 7Ex A%

(73) engage The two gears engaged. ZD2>D B EH) N LG -1,

(74) engineer genetically engineered bacteria 1z #2442 fm

(75) equal Two to the power of five equals 32. 2055|132,

(76) evaporate Heat evaporates water. #(d7K% ZR 342,

(77) evolve Small dinosaurs evolved into birds. /N ZhE )Y & FAI AL/,

(78) exhale exhale carbon monoxide —BZ{LJR ZZ ek HT

(79) exhibit exhibit initial symptoms of a hear attack  ~SHEFEAFDO W IATERE T T

(80) expand The universe is expanding, ¥ HILREZ5RL 5,

(81) experiment experiment on human subjects A2 #EBRE YL TERT S

(82) explode The chemicals exploded. U5 3 su/VEFRL=,

(83) explore explore for methane hydrate  A%> 7 MRL—OIRIBIAEL T4
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(84) expose
(85) express
(86) extend
(87) extract
(88) facilitate
(89) fashion
(90) flow

(91) freeze
(92) function
(93) furnish
(94) heat

(95) generate
(96) identify
(97) illustrate
(98) improve
(99) include
(100) indicate
(101) induce
(102) influence
(103) inhale
(104) inhibit
(105) integrate
(106) interfere
(107) invent
(108) investigate
(109) locate
(110) magnify

(111) maintain

be exposed to heat and acid F¥ BRI 355414
express the relationship in an equation ZPDBFIAMEZ BN THR T
extend downward T 77| Z#1/ > THING
extract DNA fromacell #@RE/ SONAZ Jd tH§ %
facilitate a chemical reaction LFRICZIRE TS
fashion the apparatus from plastic bottles ~<vNRML TZDE EZ{ES
control how electric current flows &7tz &l# ¢ %
The system froze. > A7 L/)7)—XL7=
function in a similar way FIUL(Z#EES 2%
the apparatus was furnished with a battery charger %3 E|ZIX R E &0\
heat the solutionto 80C 2% % 80C £T#T 2
generate electricity for commercial use ¥ RIZFEET 2
identify the extracts X D3RP FITHL % EZ LDHL(EIES L)
illustrate the importance of balance in the ecosystem £ & R/ 3TV ADERIZ T T
improve energy efficiency T/ X—R%ZH5
include the data in our analysis ZD7T—5 %5 H(Z &%
The test results indicated a substantial change ~ ASWRI) do-7=2 % T AREFER =—7=,
A current was induced in the coil. /LD ZE RN FEINT,
The stimulus influenced the rats’ behavior. ZDR|EAH 7/ DIT B - REZ 52 1=,
inhale oxygen and exhale carbon dioxide E#HE#% RN T B LR B2 HHT 2
inhibit an allergic reaction 7L/l ¥ —RICZMH|T 5
integrate visual and auditory information FRLEFMY BT HFREHFEES TS
interfere with enzymes B# A% AET %
inventadevice ¥EXFHRETS
investigate the relationship between study hours and test scores
FH YT AN EROBERE NS
locate the cause of the problem FIFED R AL >Zr6H5
magnify the image by 250% #11%% 250%(Z3K¥ %

maintain a constant density —EDE LR
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(112) measure
(113) melt
(114) mitigate
(115) modify
(116) number
(117) neutralize
(118) observe
(119) obtain
(120) operate
(121) plot
(122) position
(123) power
(124) precipitate
(125) protect
(126) provide
(127) range
(128) react
(129) reduce
(130) refer
(131) refine
(132) reflect
(133) regulate
(134) release
(135) renew
(136) repel
(137) replenish
(138) resist

(139) resolve

measure the speed RXZZHRIT 2

Ice melts into water.  KHVEITCORIZR S,

mitigate air pollution KXFH%fEAaT 2

genetically modified crops  FHAZT #4382 AFH

number each cell from 1 to 15 ZNZNDLILZI~1BDEKF LIRS
neutralize alkali [acid] 7/L 77" [E&]% F Fa9 %

observe the phenomenon ZPDRFLZEET 5

obtain energy from food B#5 4L F—%152%

The device operates on battery power. XD &1/ 3y 7)) —ERTIEET 4,
plot temperature on the y-axis 2 %Y #hl Z3 4 (&S #8()

Global Positioning System (GPS) 2 #hERRIALS 27 A

power the motor E—%—(Z & EEIET S

precipitate in the solution &R F CHET 5

protect the surface from drying & @z BB/ 555

provide the cell with energy  f@fEl - =X)L ¥ — 245525

range in height from 10cmto 120cm  &37%% 10em(DED) 5 120em(DED) £ THS

Oxygen and hydrogen react with each other. BZ R Y /KRENRICT %
reduce nitrates to nitrites  FHERIR Y FRHEIEICE T T 4

Refer to Table 2 for details. i@ - >\ R2ZHBRDZY,

refine crude oil  RIBZIEH T2

The sunlight reflected off the white sand. B t4¥ &R ZR &L=,
regulate body temperature 142 % FE 4

release heat into the atmosphere % KA F (23 HT S

The tropical rainforest cannot renew itself. Z D #AFRMIFE ELL\W,
repel dirt 2% (2LX

replenish lost water k#4172 Kp = AT %

resist corrosion  J& & 22 %

Water is resolved into oxygen and hydrogen. 7KIZER ZY /R &I 25 BRSNS,
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(140) respond
(141) result
(142) retrieve
(143) reverse
(144) revise
(145) seal
(146) sense
(147) serve
(148) signal
(149) simplify
(150) specify
(151) steady
(152) steam
(153) stimulate
(154) strain
(155) stream
(156) structure
(157) survey
(158) suspend
(159) synthesize
(160) transfer
(161) transform
(162) utilize
(163) vary
(164) verify

(165) yield

respond to stimulation #|# RIS T %

result in a complication &HFELZF |52

retrieve information from the Internet 1> % —*/NCIHFRER K T L(R)HT)

The Earth’s magnetic field has reversed a number of times.
HIRDBEIG P ER &L (%,

revise downward T 1EET %

a lead-sealed container $50)% Pl % %

sense the change in the Earth’s magnetic field 3I3RDBEHDRALE BT 2

serve as a catalyst ARty L THI<

signal the end of processing RIEDHE T % Fab %

simplify the design st E b2

specify all the factors TN THDERZIFET 2

steady the panel - Stz EIET 5

steam the cloth to remove stains A TF (2 Y TIULALZERS

stimulate an immune response  SIZ R IeZ 2T

strainthe soup A—7%IET

The liquid streamed down. Z D JRAENS T F =,

a structured interview B {LEIEE(HLNLHROLNSZE B 6 -UT @)

survey global environmental changes 3:IIRIFD R % ET 2

suspend further testing 35704 EERT o 1L (— B i) 34

synthesize glucose from amino acids 7 3/ BENL7 L I— A% SR T 5

transfer between hemispheres  fix 3¢ ER (75 AXY 72 %) D R CImiE§ %

transform a table into a graph &%/ 77|12 R#T 5

utilize deep-sea resources FADEIRZER TS

vary according to conditions &I ZL-TEHL(RETS)

verify password /SAT—RzBET 5

yield a by-product 8% 4% £$
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